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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forEQ4AW_W2
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EQ4AW_W2, Day=13 (2025-06-05)

FRV (ml plant-1)
o
~
1

V1, VG2#RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 40

0

280 L 300

E
157 171} 200 =

92 L 100 &
I 00 00O

optEC0=1800. 0, setECB=2340.0

©
(S
1

optPH0=6. 5, setPHB=6.5

e
o

I
o

N
o
1

ET (ml/hr/plant)

=T
w
o
o

ByWoFVv @D13 01:35: ET=171 Fg=210.0 Ro=6.0

T
N
o
o

T
—_
o
o

cumET (ml/plant)

—_
o

0.8 -

5 | B | B | B | iF | i [ A [R5 [ BA | B | B | BA | BH | BH | BH [ BA | BA [ BA [ BA | BA | BA | BH | B | A

0.6 1

0.4+

0.2~

0.0

750 -

500 -

250 -

', 'PPFD_obs’] is missing

', '"To_obs'] is missing

"RHo_obs’' ] is

Warning: lcol ['RH_obs’,

0.6 1

0.4+

0.2~

0.0
0.0

0.2 0.4 0.6 0.8 1.0



hour

6:00

7:00

8:00

11:05

13:30

100

80

- 60

- 40

20



EQ4AW

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS R

06:00 60 30.0 0. 052 RS {RRi%@06:00 Fz (KREAEHSE)
07:00 60 30.0 0. 052 B 1Rige07:00 Fzh (REEER)
08:00 60 30.0 0. 052 | 1Rige08:00 Fzh (KREEEEE)
11:05 60 30.0 0. 052 B Rige11:05 Fzn (REEHSE)
13:30 60 30.0 0. 052 B 1Rige13:30 Fzh (REEZEE)
2it| 300.0 (5)%) 150. 0 3EHKEC: 2228.0, PH: 6.5

MEREHERE STMAEART (43.0 : 32.0), AREKREERE
ZRIASERRIERE32. 0 ml.

FEREBIPH (4.86) H5ig%EPH (6.2) RERK, F/RE
RMEFREBIPH (4.86) SFMPH (6.5) REKK, FHRET
LRGERPH (4.9) 5iEEE (6.2) REKK, BHAE.
LORGERPH (4.9) SiEBIEE (6.5) RERK, BRE.




EQ4AW_W2, Day=12 (2025-06-04)

30 A

20 A

10 A

P [=2]
o o
! !

N
o
!

FRV (ml plant-1)

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

Vi — MW
FRV

""""""""""""""" (S | N R A S

o

0.6

0.4+

0.2+

Warning: lcol ["WC1',| "WC2'] missing

0.0

2800 4 optECO=1714.0, setECB=2228.0 ° —¢  ECB*10%

2600 . e T 1
2400 L

2200

6.5 1-—optPHO=6. 5. setPHB=6.5 _ | _

6.0

5.0 A

b
o

o ([ ECC

| | - 20

—>—  PHB*10%
® PHC o e ¢ o o °

ET (ml/hr/plant)

60

40

20 A

1
Bylnit @13 01:35: ET=160 Fg=210.0 Ro=6.0

H——————————

|
|
|

b

=T

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ET (ml/hr/plant)

60

40 -

20 A

HEE Has Hi EE HEE Has Hi EE HEE Has E3 = E3 E3 E3 = E3 E3 E3 = £33 E3 E3 =
B B B B B B B B B B 5] B B B 5] B B B 5] B B B 5] B

ByEt @12 19:04: ET=239 Fg=279.0 Ro=nan

T
N
o
o

T
—_
o
o

cumET (ml/plant)

 S——— -
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 90

ET (ml/hr/plant)

60

40

20 A

E3 ES ES E3 E3 ES ES =3 E3 ES ES =3 E3 ES ES =3 E3 ES ES E3 E3 ES ES =3
5 5 i i 5 5 i H H 5 A G B 5 A G B B G G B B G G

]
ByWoFv @D13 01:35: ET=123 Fg=150.0 Ro=4.0

He————— =

T
wW
o
o

N>
S
S
cumET (ml/plant)

T
—_
o
o

p—ry

.0

0.8 A

0.6

0.4+

0.2+

0.0

1500 ~

1000 ~

500 A

30 A

1 .M ® VP
QA= "y U

—_—
[ ) | _obs
—@— PPFD_obs

A A

ESY

_— T
o T _obs
o To_obs

- 400

T T
N wW P
o o (=}
o o o

T
—_
o
o

cumET (ml/plant)

= 900

T
wW
o
o

0

280 88| 300 4
215 -
160 - 200 >~
112 123
92 L 100 &
29 I Warning: lcol [FVI',| "FVO’] missing I
- -0



19. 75 A

19. 50 -

19. 25

19. 00 -

18. 75

18. 50

MW

T
600

860
m=670,n FV0=0

T
1000

19.5 ~

19. 4

19. 3 A

19. 2

19.1 4

——

M_W

670

T T
675 680

m=910,m FV0=0

19.5 ~

19. 4

19. 3 A

19. 2 ~

19.1 4

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

18.

m=470, FV0=0

—o—

M_W

470

4%5 450
m=720,n FV0=0

——

M_W

720

7é5 750
m=1000m FV0=0

——

M_W

1000

1005 1010

19.

18.

18.

18.

18.

19.

19.

19.

19.

19.

m=560, FV0=0

——

M_W

T
560

5é5 5%0
m=770,n FV0=0

M_W

770

T
775 780

m=610, FV0=0

19. 3 A

19.2 4

19.1 ~

19.0 4

18.9 A

——

M_W

T
610

6%5 GéO
m=840,n FV0=0

19. 60

19. 55 -

19. 50 A

19. 45 -

19. 40 A

19. 35 -

19. 30 -

M_W

T
840

845 850




hour

11:55

100

80

- 60

- 40

20



EQ4AW

BYiE) | GEEBERTIC (RD) | EBE (BAH/FK) | BBREE (BF/R) | X8 ERF

06:15 60 30.0 0. 052 S| 1Rige06:15 Fzh (REEEEE
07:15 60 30.0 0. 052 5| {Ri&e07:15 Fah (5{&#114;,@3%)
08:15 60 30.0 0. 052 RS {Ri&e08:15 F 3 (iﬁﬁﬂzﬁ!’z%%)
11:55 60 30.0 0. 052 S| 1BRige11:55 Fzh (REEREE
23t 240.0 (4%) 120.0 EPUHKEC: 2512.0, PH: 6.5

TERRHLER 2 STEIEARTF (43.0 :

EIRGEBBTHCRIZIRELZIY (60 vs 52.0))

ZRIASERRIERE35. 0 ml.

35.0), AJRE/KREERAE

REREBPH (5.0) SiR7EPH (6.2) IRERK, HRE

REXEBIPH (5.0) 5FMPH (6.5) WEKK,

B *.Lﬁ

ERGEBIPH (4.9) 5i&7EE (6.2) RERK, HHE.
ERGEBPH (4.9) S5RBIE (6.5 RERK, HRE.




EQ4AW_W2, Day=11 (2025-06-03)

30 A

20 A

10

1

VI, VB2BRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
215

»
o
!

FRV (ml plant-1)
N
S
1

Vi —_— MW
FRV ———  maxM

o

0.6

0.4+

0.2+

Warning: lcol ["WC1',| "WC2'] missing

0.0

2800 1+ —optEC0=2400. 0, setECB=2512.0 —é—  ECB*10%

2600 g

2400

6.5

6.0
5.5 1

501 @ PHC L °

{ _optPH0=6.5

([ ECC

setPHB=6. 5

—————— e o e o e S e e e e o — — — ——

—>—  PHB*10%

80

ET (ml/hr/plant)

60

40

20 -

1
Bylni# @13 01:35: ET=105 Fg=90.0 Ro=3.0

p ©

- 200

L
@
@

1
-
o
S

300

200

(ml d-1)

- 100 2

180 B
60 |7
92
20 88
I Warning: lcol [FVI',| "FVO’] missing 2l2 I
-0

i 30

F

‘25;

300

cumET (ml/plant)

800

80

a o o
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ET (ml/hr/plant)

60

40

20 -

HEE Has Hi EE HEE Has Hi EE HEE Has E3 = E3 E3 E3 = E3 E3 E3 = £33 E3 E3 =
B B B B B B B B B B 5] B B B 5] B B B 5] B B B 5] B

P 4 >4 4 4 4

i
ByEt @11 19:03: ET=182 Fg=185. 0 Ro=nan o—o ‘ ® —o—o L 200

1

]

¢
?
®

cumET (ml/plant)

800

80

Vs e\ — Lo Vs
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

ET (ml/hr/plant)

60

40

20 -

£33 E3 E3 = E3 E3 E3 = E3 E3 E3 = E3 E3 E3 = E3 E3 E3 = £33 E3 E3 =
H H i H H H i H H H
B B A B B A A B B A A B B A A B B A A B B A A

e —————-

i
ByWoFy @D13 01:35: ET=92 Fg=120.0 Ro=2.0 - 200

_.
o
?
®

cumET (ml/plant)

p—ry

.0

0.8 A

0.6

0.4+

0.2+

B 5] B B B 5] B B B 5] B B B 5] B

0.0

1500 ~
1000 ~

500 -

407 @  RH obs

[ ) | _obs
—@— PPFD_obs

—_— 4

RH

RHo obs




20.

19.

19.

19.

19.

20.

19.

19.

19.

19.

19.

M_W

T
500

T T T T
600 700 800 900

m=780,m FV0=0

M_W

T
780

T
785 790

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

m=480, FV0=0

——

M_W

T
480

4é5 460
m=930,n FV0=0

——

MW

T
930

T
935 940

m=600, FV0=0
19.9 ~ - MW
19. 8 ~
19.7 A
19.6
19.5 A
T T T
600 605 610

19.

19.

19.

19.

19.

19.

19.

m=720, FV0=0

90

85

80 -

75 A

70 A

65

60 -

M_W

720

T
725 730




hour

6:30

7:30

8:35

12:50

100

80

- 60

- 40

20



EQ4AW

BYiE) | GEEBERTIC (RD) | EBE (BAH/FK) | BBREE (BF/R) | X8 ERF

06:30 60 30.0 0.052 [Z=| 1BRi%e06:30 Fzh (REEEE)
07:30 60 30.0 0. 052 RS {Ri&e07:30 Fz (REAEHE)
08:35 60 30.0 0. 052 BE| {RRi8e08:35 Fz (REAERHE)
12:50 60 30.0 0. 052 Bl Rige12:50 Fz (REEEE)
Bit| 240.0 (4%) 120.0 3 UHKEC: 2566.0, PH: 6.2

ERGEBRTCRIRIR BN E 1Y (60 vs 46.0))

ZRIASEBRIERE39. 0 ml.

RE X 1 B RECEIE fR K.

REXEEBIEC (2151.0) 5% FEC (2600.0) REKR KA, HFHE
REREBL S HEREC/PHETRK, RIRERMMIEERER
LERGEBIPH (4.9) H5igEE (6.2) REKK, BRE.
EGEBIPH (4.9) 5REEIY (6.2) RERK, BRE.



EQ4AW_W2, Day=10 (2025-06-02)

0 e e S - 300

20 A

10 A

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 25[334

20 2929 yarning: col ['FVI’, 'FVO'] missing I
[ |

»
o
!

FRV (ml plant-1)
N
S
1

v — MW

o

0.6

0.4+

0.2+

Warning: lcol ["WC1',| "WC2'] missing

0.0
2800

2600

2400 -

optEC0=2400. 0, setECB=2566.0 —%—  ECB*10%
([ ECC

2200

6.5 1

6.0

5.5 1

o
o
I

optPH0=6. 5, setPHB=6. 2 —%—  PHB*10%

Y (=2}
o o
1 1

N
o
1

ET (ml/hr/plant)

1
Bylni# @D13-01:35:—ET=92 Fg=150.0 Ro=2.0

Hm—————————

T
N
o
o

¢
[ ]
¢
®
=)

o

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

Y (=2}
o o O
1 1

N
o
1

ET (ml/hr/plant)

M 2725|227 (25 || B [ | B5 | B [BF | B5 | B | BF | B5 | M5 | BE | f5 [ RE | HE | A5 [ AR | HR

ByEt @10 19:19: ET=197 Fg=222. 0 Ro=nan

wW
o
o

T
N
o
o

L
P
’>
®

o

 ——a—{
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

Y (=2}
o o O
1 1

N
o
1

ET (ml/hr/plant)

M2 (252|225 |2 | B (B | B | B [B | B [ZF|(Z3T|25(25|(2| B [ B (25| B [ B | B

]
ByWoFv @D13 01:35: ET=79 Fg=120.0 Ro=3.0

o
?.

T
@
®

wW
o
o

T
N
o
o

T
—_
o
o

cumET (ml/plant)

o

0sl B |B=|52 2715227 57| & | % | & | B | % | % 5222|5752 52| % | % 5= & | @ | &
0.6

0.4+

0.2+

I
| _obs
PPFD_obs

37 °* o M‘A ®

4 300

o

cumET (ml/plant)

o

cumET (ml/plant)



20. 75 A

20. 50 A

20. 25 A

20. 00 A

19. 75

19. 50

MW

T
500

T
600

T T T
700 800 900

m=720,m FV0=0

20. 5

20. 4 -

20. 3

20. 2 -

20. 1 -

——

M_W

720

T
725 730

20.

19.

19.

19.

19.

19.

19.

20.

20.

20.

20.

20.

20.

20.

m=495, FV0=0

0

——

M_w

T
495

560 565
m=780,n FV0=0

70 A

65

60 -

95 A

50 -

45 ~

40 A

M_W

T
780

T
785 790

m=590, FV0=0

20. 1

20.0 -

19.9 ~

19. 8

19.7

——

M_W

T
590

555
m=930,n FV0=0

T
600

20. 2

20. 1 -

20.0

19.9

19. 8 ~

M_W

930

935

940

20.

20.

20.

20.

20.

20.

20.

m=660, FV0=0

30

25

20 -

15 1

10 4

05 A

00 -

M_W

660

T
665 670




hour

8:40
11:55

4 @%f%
@

100

80

- 60

40

20



EQ4AW

BYIE) | BT () | s (EF/#F) | EREE (B/X) = SRR

08:40 40 30.0 0. 052 Z| Bi%e08:40 Fzh (KREERSE)
11:55 40 30.0 0. 052 FA| {Ri&e11:55 Fzi (KAHEHE)
23| 80.0 (2%) 60.0 323 KEC: 2400.0, PH: 6.2

RMERERIEC (2029.0) 5FMEC (2500.0) REK K, FRE
EORGEEBIEC (2151.0) H5igEE (2600.0) REK A, HHE.




EQ4AW_W2, Day=9 (2025-06-01)

FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

] e e e e e B B g S P L 100
VI, VRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
70 F75
20 L
L 50
32 |35 292828 =
10 20 - 25 E
Warning: lcol [FVI',| "FVO’'] missing IO III 0
. i
(v —— wmw @30
30 T S 5 N maxM |
20— —25 ;|
=
10
- 20
1.0
U
0.8 4
0.6
0.4 4
.2 1
0 Warning: lcol ["WC1',  "WC2'] missing
0.0
2800 4 optECO=2400.0, setECB=2400.0 —¢  ECB*10%
[ ] ECC
2600 -
2400 f === mm
2200
optPHO=6.5, setPHB=6. 2 —¢  PHB*10%
6.5 - o PHC
_________________________________________ Dot o o
6.0
150 | 4
Bylnl:t @13 01:35: ET=354 Fg=350.0 Ro=13.0 =
: - 400 &
100 - - =
. =
1 E
50 - l - 200 1
: g
(6]
1 I |
ok ) — ]\ i 0
150 7 0 1 2 3 6 7 8 12 13 14 15 16 17 18 19 20 21 22 23
Tm| P | W | ™ | W T8 | W | B T | B | ™ | %A | ™ | B3 | B8 | 8 | %A | %8 | B3 | B o
| c
100 ByEt @9 19:05: ET=241 Fg=27.0 Ro=nan 400 s
~
E
50 - 200
E
3
ok ® -& 4 & © ee—e—e e & 8 & 8§ 8 8 8 & 0
150 7 0 1 2 3 4 6 8 12 13 14 15 16 17 18 19 20 21 22 23
| BB | BB | KM |/ Z |z | 2 T | B | B | %A | P8 | A | B | B | 8 |Z2=2=|52 o
1 | C
100 | ByWoFY @D13 01:35: ET=28 Fg=60.0 Ro=0 400 s
~
: E
50 - l - 200 1
: g
(6]
|
0 1 2 3 4 5 6 7 8 12 13 14 15 16 17 18 19 20 21 22 23
0l B B | W [ Am|Im]| & | = | & | & T | B | 5 | 58 | P8 | A | B | B | 8 |Z2=2=|52
0.6
0.4 4
0.2 4
0.0
600 _ 4
o | _obs
400 - —@— PPFD_obs
200 +
RH
60 4 [ ] RH_obs
(] RHo_obs




20. 3 MW
20. 2
20. 1 A
20.0
19.9 ~
700 720 740

20.

20.

20.

20.

20.

.95 4

.90 A

m=700, FV0=0

20

15 1

10 4

05 A

00 -

M_W

700

T
705

710




